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QUESTION 1

Which two loT environment layers are protected by AMP for Endpoints? (Choose Two) 

A. Data Center 

B. Internet/Cloud 

C. Control Layer 

D. Access Points 

E. Things 

Correct Answer: BE 

 

QUESTION 2

Which two attack vectors are protected by Cloud Security? (Choose Two) 

A. Endpoints 

B. Cloud 

C. Web 

D. Data Center 

E. Email 

Correct Answer: AB 

 

QUESTION 3

In the Local Data Center Edge use case, which capabilities are provided by NGFW and NGIPS? 

A. Identity Services Engine 

B. Reduced attack surface of the on-premises datacenter 

C. Platform exchange grid 

D. File Retrospection and Trajectory 

Correct Answer: B 

 

QUESTION 4

What are two result of utilizing a fragmented security model? (Choose Two) 
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A. Decreased visibility and limited understand of security coverage. 

B. Individual components pieced together to meet requirements. 

C. Reduced malicious file risk through additional segmentation. 

D. Increased identity controls. 

E. Decreased network accessibility through multiple applications. 

Correct Answer: AB 

 

QUESTION 5

What are two ways that Cisco helps customers secure loT deployments? (Choose Two) 

A. secure remote access 

B. segmentationandvisibility 

C. cross-architecture automation 

D. network analysis 

E. limited access points 

Correct Answer: AB 
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